~ Marematvk X34 | (X X ) D3N3XYYHUNT XIMKMNX

CyYParUUMH HIP: «ooeeeeeeiiieee e OXAMNCAH: ..o, OH ........ cap ........ enep
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2 | JInTpaap nnapxuinnasapan. Xuwasa: 500 mn = 1000 mn + 2 = %n
a. 500 mn = r. 250 mn =
6. 200 mn = a. 20 mn =
B. 100 mn = e. 125 mn =

3 ) [Iutp 62 MUNNUNUTPISP UNIPXUNNIBPIN.IKNLLII: 3 % n= 3n500wmn
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4 | MunnmnnTpasp Unapxmnnasapan.Kuwaa: 3 % n =3 x1000 + 500 = 3500(mn)
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S | JInTpaap unapxmmnnaapan. Kuwaa: 2 n 250 mn = 2% n

a.3n500wmn= n B.29n 100 mn = n

0. 121200 mn = n r. 40n 250 mn = n

6 Knwaapan.

a.6250 mn ..... 62 n 6.2 n 200 mn....10200 mn B. 1200 mn.... 12 n

[aanraBap 1 2 3 4 5 6
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‘ Matematuk | X34 | OXOX) O3n3XYYHUNAT X3IMKUX

CyYParUUMH HIP: «ooeeeeeeiiieee e OXAMNCAH: ..o, OH ........ cap ........ enep
et
! 1 1 1 1

! .j Zn+in -n+-n+-n=1-n 20 +20+2n0=1500 mn
I, 2 2 2 2 2 2 2 2 2

: & ~_ ~~— 11 ~_

! in In+-n=1n (1000 + 500)11 = 1500 mn

3aaBpblH aaryy 6og0opon.
1 | YrngonuiH YyaHap XaparnaH xanbap apraap YAN4vMnr ryiuaTraspan.

1 1 1 1 1 1
a. -n+-n+-n= M B.-n+-n+-n= Mn
2 4 2 2 5 2

1 1 1 1 1 1
6. -n+—n+-n= MI L-n+-n+-n= M
10 2 2 8 2

2

2 TarwnTranuimH WUUANWT ONOOA LWarnraapan.

a. 1000 mn + A = 1200 mn ©.5000 Mmn—-C = 1n
3 ) a.78n500Mn—C = 7800 mr 6.2n+-n-C= 250 Mn
4 3yn TOrTAbIr axurrnaag TOXMpoX Toor Gr43aapan.
4111, 8111, 12111, J, n, I
2 4 6

CJ [aanraeap 1 2 3 4
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